



RESOLUCIÓ D'EQUACIONS FÀCILS

2

Ex 1

1:

$$3x + 9 = 2x + 12$$

=

=

2:

$$3y - 3 = 2y + 6$$

=

=

3:

$$-2x = -7x + 15$$

=

=

= --- =

4:

$$10x - 5 = 9x - 1$$

=

=

5:

$$-2w - 4 = -3w - 2$$

=

=

6:

$$-x - 4 = -2x + 3$$

=

=

7:

$$3w - 6 = 2w - 3$$

=

=

8:

$$10x - 9 = 9x - 4$$

=

=

9:

$$5x - 7 = 13$$

=

= --- =

10:

$$-3v - 8 = -4v + 1$$

=

=

Ex2

1:

$$4x + 2 = -3x + 65$$

=

=

= --- =

2:

$$-8x + 2 = -10x + 10$$

=

=

= --- =

3:

$$-24x - 15 = -27x + 12$$

=

=

= --- =

4:

$$56x + 40 = 48x + 104$$

=

=

= --- =

5:

$$6 = -6x + 60$$

=

=

= --- =

6:

$$5x - 8 = 3x + 4$$

=

=

= --- =

7:

$$-10x - 4 = -12x + 8$$

=

=

= --- =

8:

$$-5z + 9 = -8z + 27$$

=

=

= --- =

9:

$$-5w + 18 = -8w + 36$$

=

=

= --- =

10:

$$90w + 7 = 81w + 70$$

=

=

= --- =